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Yoie . \ttempt all questions

Afienipt any lour
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_ {a) Explaia the folio ving terms
(1) Precision Gi) True erro
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(b) What is locai attraction” How it is detected @
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(f) Write the uses ¢ f counieis

Atteript any four W"
Write: the chara”

(o)  Discuss the idea' Lransition cune
A »v it by sateliite stations’ Write U

ristics of iransihon © curve
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(d) Whatdo you mean vy strength of fisures in trianeulation
svstem” Explain :
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() Write the principle of traversing by comonass

Attempt any two parts :

(a)  Write the advantages anc disadvantages o7 plane
tabling

(b) Explain the resection by three point problem

(¢) The following bearings were observed in running
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Det=2irmine the correct bearines of the b

Adempt any two paits

{(a) Explain different types ¢! tapes. :

(&) Give the differences betwvsen prismatic ccmpass
and surveyor’s compass in tabular form. |

(c) What are the different errors in theodolite work?
How are they eliminated’

Attemnpt any two parts N e

(a) Explain the methods of s¢iung oul SIMPES Circulai
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(c) Write short note on

(1)  Principle of surveyii &

(1) Vertical curves
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